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Chemistry: Solutions Test Review Worksheet 

1. What is a solution? List 3 examples of solutions.

2. Differentiate between heterogeneous mixtures and homogeneous mixtures. Give 2 examples of each.

3. A dental filling (mercury in silver) would be an example of what kind of solute-solvent combination?

4. Seltzer water (carbon dioxide in water) would be an example of what kind of solute-solvent combination?

5. Differentiate between the terms miscible and immiscible. Give an example of 2 liquids that are miscible. Give an example of two liquids that are immiscible.

6. Differentiate between an electrolyte and a nonelectrolyte. Give 2 examples of each.

7. How many grams of potassium chloride (KCl) are needed to prepare 0.750 L of a 2.00 M solution of potassium chloride in water? 

8. Differentiate among unsaturated, saturated, and supersaturated solutions.

9. Explain the process of solvation when sodium chloride (NaCl) is placed in water. 

10. What 3 factors affect the extent to which one substance will dissolve into another?

11. What is the “like dissolves like” rule? 

For questions #17-18, choose either increases or decreases to complete the blank.

12. As the temperature increases, the solubility of a gas in a liquid _____________.

13. In general, the solubility of a solid solute in a liquid _____________ as the temperature increases.

14. What 3 factors affect the rate at which a solid solute dissolves in solution?

15. What is a colligative property? List the three we talked about.

16. List two practical instances where depressing the freezing point of a solution would be advantageous?

17. List 2 examples of alloys. 
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Questions #29-31 refer to the solubility curves graph above.

18. A change in temperature has the least affect on the solubility of which substance?

19. Classify the following solutions as saturated, unsaturated, or supersaturated.

a. 100 g of NaNO3 in 100 g H2O at 40°C

b. 10 g of KClO3 in 100 g H2O at 40°C

c. 60 g of KNO3 in 100 g H2O at 39°C 

20. A saturated solution of KNO3 contains 80 g of KNO3 in 100 g H2O. What is the approximate temperature of the solution?

